A Bird Flies Home

Here we'll need to recall how to parameterize line segments from 2points ()%’yo) to (Xl’yl)

as time varies from t_to t1
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For the trajectory of the pigeon over the water The bird flies \/5 miles at 15mph so t, - t0 = .0%
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For the path where the pigeon flies one mile over land then cuts over land the time it takes to fly

over land is i =0.02857 and over water i =0.06667:
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For the path where the bird flies .526 miles over land in time :526 =0.015 then flieson alineto ptB
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over water a distance 1.107 miles in time iO? =0.074:
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The Format is :
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Use 95 frames since the max time it takes (path 2) is .095 hrs
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